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Taylorovi redovi

1. ex = 1 + x +
x2
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+

x3
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2. cos x = 1− x2
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+

x4

4!
− x6

6!
+ . . . =
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(−1)n x2n
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3. sinx = x− x3
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x5

5!
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7!
+ . . . =
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, x ∈ R

4.
1

1− x
= 1 + x + x2 + x3 + . . . =

∞∑
n=0

xn, |x| < 1
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)
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α

2

)
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(
α
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xn, |x| < 1,

pri čemu je
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)
=
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,
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0

)
= 1

6.
√

1 + x = (1 + x)
1
2 = 1 +
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2n n!

xn, |x| < 1,

jer je
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=
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7.
1√

1 + x
= (1 + x)−

1
2 = 1 +
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(−1)n(2n− 1)!!
2nn!

xn, |x| < 1,

jer je
(
−1

2

n

)
=

(−1)n(2n− 1)!!
2nn!

8. Ako je P polinom stupnja m, onda je

P (x) = P (0) +
P ′(0)

1!
x +

P ′′(0)
2!

x2 + . . . =
m∑

n=0

P (n)(0)
n!

xn, |x| < 1

9. ln (1 + x) =
x

1
− x2

2
+

x3

3
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4
+ . . . =
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n
, |x| < 1

10. arctg x =
x

1
− x3

3
+

x5

5
− x7

7
+ . . . =
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n=0

(−1)n x2n+1

2n + 1
, |x| < 1

11. arcsin x =
∞∑

n=0

(2n− 1)!!
2n n!

· x2n+1

2n + 1
, |x| < 1


